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No BT REH HEDIELE trL-134 tr5 L-137 AEE

Bqg. kg Ba. kg Ba kg
1 HEM R5.8.6 TSR BRHEE3(<84) BRHEE9(<8.38) BRHEET
2 HE™T R5.8.6 SR BREE9(<7.8) BRHEE9(<6.7) BRHEEY
3 $ tth BT R5.8.6 hFrhs3 BRHEE9(<6.8) BRHEE9(<4.8) - danhcac
4 HE™T R5.8.6 FYRANIL BREE9(<9.9) BRHEE3(<7.6) BREed
5 HET R5.8.6 =P VAV BREE9(<7.5) R E9(<6.0) - danhcac
6 HE™T R5.8.6 =~ BRHEEI(<11) BRHE3(<9.0) BREed
7 $ BT R5.8.6 ES A BRHEE9(<8.5) BRHEE9(<7.2) BT
8 HE™T R5.8.6 TS BRHET(<8.0) BRHET(L7.7) BRHEET
9 i AT R5.8.6 <3dF BRHEE9(<8.6) B®RHE9(<8.6) BT
10 HE™T R5.8.6 <H N BRHET(<9.5) BRHE9(<L5.7) BRHEET
11 $7 Hh BT R5.8.6 Val BREE9(<6.7) BRHEE9(<7.2) - daskcac
12 tHE™ R5.8.6 ESYAHZ BREE9(<7.0) BRHET(LT7.1) BEed
13 HET R5.8.2 7YY BRHEE9(<6.9) BRHEE9(<7.4) - daskcac
14 HE™T R5.8.8 75 BRHET(<85) BRHET(<85) BRHEET
15 7 Hh BT R5.8.9 eIk BREE9(<8.7) BRHEE9(<8.5) BrEed
16 HE™T R5.8.6 F7IE BRHET(<9.5) BRHE9(<8.3) BRHEET
17 LWhEt R5.8.6 TSR BREE9(<9.3) BRHE9(<6.8) BrEed




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE

Ba ke Ba ke Ba kg
18 WhET R5.8.6 TAF A BRHEE7(<7.8) BRHEE9(<7.0) BRHEEY
19 WhEM™ R5.8.5 ThLY BRHE9(<8.5) B 97(<8.6) > Jarkcacl
20 WhET R5.8.5 DT F AL BREET(<7.6) ‘(<) : Jarhcars
21 WhEM™ R5.8.5 TVAITAFARr) BRHE9(<8.6) B 9(<9.0) > Jarkcacl
22 WhET R5.8.6 yalspel BEE7(<8.3) BEE9(<9.5) : Jarhcars
23 WhEM™ R5.8.6 FURANIL B 9(<6.0) B 97(<6.5) BRHEEY
24 WhEM R5.8.6 FHEA BRHE9(<8.6) BRHE9(<84) BRHEEY
25 WhEM™ R5.8.6 £S5 4 BRHE9(<9.0) BRHEEY(<74) BRHEEY
26 WhEM R5.8.5 255 BRHEE9(<7.8) R E9(<8.5) BRHEEY
27 WhET R5.8.6 ThOEA BRHEE7(<9.9 BRHEE7(<8.9) BRHEY
28 WhEM R5.8.5 Yr¥/<4 BRHEET(<1) R E9(<8.5) BREEY
29 WhEM R5.8.5 aA4HYT BRHEE7(<84) B E9(<6.5) BRHEY
30 WhEM R5.8.6 1+EIE BREET(1] BRHEE9(<6.4) BRHEY
31 WhET R5.8.6 T7oE BREEF(.) BREEF(<1) BRHEY
32 WhEM R5.8.6 FALZHFO= BRHE9(<8.5) BRHEEY(<74) BRHEY
33 = [ BT R5.8.5 JEVHRAN BRHE9(<8.9) BRHEE9(<6.9) BRHEEY
34 = [E AT R5.8.5 =~ BRHE9(<8.6) BRHEEY(<74) BRHEY
35 = R ET R5.8.5 RIRD BREET(<9. BRHEE9(<7.0) BREEY
36 = [T R5.8.5 Y= BRHEE9(<7.9) B 9(<7.5) BRHEEY
g7 | EWET SRR (A R5.8.9 71 B (<87 Rt (<85) BT
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No BT REH REDIELE t 134 3 L-137 BEIE
Bg kg Bg kg Ba ke
38 =2 R R5.8.13 7a BRHEET(<L7.9) BRHET(<L7.8) BRHEET
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BRBEEEIZBT2—REROEEE £ 9L :100Ba/kg(E>H L-134, £ 9 L-13TDOEEE)
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No BT EEIA HEoEE T L-134 £ L-137 SRHiE

Bag. kg Ba. kg Ba ke

1 LWhE R5.8.6 i=VEt BREE9(<9.2) BRHEY(<7.9) BRHEEY

2 WhEM R5.8.7 yovyA BRHE9(<9.0) BRHEET(<L7.0) - Jaskcac
3 EHEET FHEII R5.7.31 7 BRHET(<11) 14.8 15
4 EAHEET FHEII R5.8.2 7 BRHEE9(<8.2) 33.0 33
5 EHET FEII R5.8.5 71 BRHEET(L7.7) 36.5 37

BRBEEICIBTA—BREROEEE 9L 100Bg/kg(E> 9 L-134, £ H L-13TDEE(E)
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